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Figure 6. Photographs showing the BRIDGET vehicle and instruments: a) side 
view; b) front view showing instruments mounted in the nose of the 
vehicle.
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Figure 8. Three dimensional view of potential temperature measured by the CTD onboard BRIDGET. The 
path of BRIDGET is given by the red line and is about 100 m height off bottom throughout. The vertical 
excursions at the ends of section S/T and S show indicate BRIDGET deployment. On section P this is 
hidden.
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Figure 12.Temperature along section S measured by T5 XBT 
probes deployed at 45 minute intervals along track during 
a BRIDGET tow.
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Figure 13. Estimates of bottom friction using LADCP velocities. Two methods are used: a) and c) by 
estimating the friction velocity in the bottom boundary layer and; b) and d) by estimating the 
Ekman spiral and integrating the velocity perpendicular to the core of the plume velocity: a) and b) 
from the CHAOS cruise in 1998; c) and d) from a station taken from this cruise.
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